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1. <2 +x?+ 16, V& x Th oATHS U B, x §|4.
gl R 2 ) x F 0@ @t wwe e 6
(a) 3
b)) 4
@ -5
d 6
2. (a, b, c) Y GG That &, TE¥ a, b, ¢ TR
- qurtes &, 9 YR R abc =307
(a) 30
by 27
@ 9
@ s
3. R s fEuma wfer x% - 4x — log;o N =0 %
S JRAfaeh 8, a N sl ~IHad T 7 8 2
(a) 1
1
(b)’ 10
|
(c) m
1
@ 1000
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® 54
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(d) 56
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1.  x%+x?+ 16 is exactly divisible by x, where xis 4. The number of different solutions of the

a positive integer. The number of all such equation x +y + z = 12, where each of x, y and

. . z is a positive integer, is
possible values of x is

_ (a) 53
@ 3 (b) 54
b 4 ' @ 55
© 5 o | @ 56

d 6
' 5. If I =a%+b2+c? where a and b are

consecutive integers and.c = ab, then I is

2. The ﬁumber oAb, ¢). where a, b, ¢ are (a) an even number and it is not a square _of

an integer
positive ififegers puch thatepaber=803R8 ' (b) an odd number and it is not a square of
. ' an integer °
(a) 30
(¢) square of an even integer
(b)( 27 R ‘ . (d) square of an odd integer
@ 9 :
@ 8 ' 6. | If the number 23P62971335 is divisible by the
‘ smallest odd composite number, then what is
the value of P ?
3. If the roots of the quadratic equation| (@) 4
x2 - 4x — log;, N = 0 are real, then what is the ‘ (b) 5
minimum value of N ? () 6
@ 7
@ 1
(b) —1% 7. What is the remainder when the sum
15 + 25 + 85 4 45 + 55 is divided by 4 ?
1 . .
— , 0
(c) 100 (a)
. b 1
(d) _1 (o) 2
© 10000
@ 3
DZOL-T-LKM (3=-A)
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@ 1
, a 1
b 3
b 2
e 7 0 16
@ 9 @ 17
S _ ' i2. 1 _ 1 . -
9. Q Rl *1 LCM 3% HCF 128 71 2 | 1+v2 J2+43 JB+va ' J99+ 100 J1o
HCF.SﬂI LCM T a7T%a 1740 } | afe 3 & e
Tsh HEAT 240 7, T GEG €& TR 2
’ (a) 1
(a) 420
' ®d) 5
b) 64
®) 640 © 9
(c) 820 @ 10
(d 1040
13. ?Jﬁxm=14\,x\/x\/;%,@m$lmaﬂ'f%?‘
10. frafafas 7 8 ffes o * - ™), - a) @ @ L | |
fawrsa 8, iz a? 2 '
- | ® 1
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' ‘8'. What is the digit in the unit place of_399 ? 11. If 172020 j5 divided by 18, then what is the
‘ | remainder ?
(a 1
@ 1
® 3
b)) 2
© 7
(¢ 16
@ 9
@ 17

9. LCM of two numbers is 28 times their HCF. | o What is the value of
The sum of the HCF and the LCM is 1740. If 1 1 1 1
’ ‘ + + =+ ...+ . ?
one of these numbers is 240, then what is the 1+42 J2+43 V3+44 V99 + 4100

other number ?

‘ (a 1
(a) 420 ® 5
(b) 640 : ¢ 9
© 820 - @ (10
(d 1040
13, Ifx™ = 14\fx VX Vx , then what is the value of -
| m?
10. (x™ — a®) is divisible by (x — a), where x # a, for| ;
every ‘ (a) : g
(a) natural number n ®) - :11_
(b) even natural number n only
(© % X
(¢) odd natural number n only
@ 7
(d) prime number n only 4
DZOL-T-LKM | (5-A)
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14, TETRM +1,+2,+3,+4, +5A AT AR A &ft|17. T 60 W9 1 fpare ¥ 7% 9 W n Rt

T A FEel ¥ wt @ PEwdEl S anes £ | 3R % A iR i HEm 3 W oW &

FR? M, dF TH G AR WY H i A 6
@ 0 HEAT 10 At 8 @t | n T A R R?
(¢c) -55

® 21
(d 55

© 24

15. 110 m Gt @h @St 132 km/hr H THTAH d 30
T W Tl W R | 165 m AR g H IR B

H fohaar wwg @ 2
(@ 6538 | | | |
b 78 , 18. 3 x eAreHt, x'ﬁ.wﬁﬁqmmxﬁﬁi
© i xmmw‘ﬂi‘lﬁﬁ,?ﬁym,?@m&q
@ 5 Wlmyﬁﬁﬁkﬁémiﬁ{ﬂ%ﬁl k T
' T &1 ] 2
16. fFfl gowm W WuR SN, gewd @ @ x%y3
TH-HTE 2 | AR a§t f gen ok aifte s
X HE: G &, a1 a6t ) aea = 8 2 ® xSy
(a) 25
b 3 ‘ © y*x3
(¢ 35 | )
@ 5 d y3x2
DZOL-T-LKM ' (6-A)
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14." The sum of all possible products taken two at |17.
a time out of the numbers + 1, + 2, + 3, + 4,5
is
(a O
by -30 -
(¢ -55
(d) 55
15. A train of length 110 m is moving at.a uniform
speed of 132 km/hr. The time required to cross
a bridge of length 165 m is
(a) 6-5 seconds
(b) 7 seconds
(¢) 75 seconds
(d 85 seconds 18.-
16. The simple interest on a certain sum is
one-fourth of the sum. If the number of-years
and the  rate of annual ihterest are
numerically ‘equal, then the number of
years is
(a) 25
M) 3
(© 35
d 5
(7T-A)
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A 60-page book has n lines per page. If the
number of lines were reduced by 3 in each
page, the number of pages would have to be
increased by 10 to give the same writing

space. What is the value of n ?

(a) 18

®) 21
(c) 24
(d 30

If x men working x hours per day can do
x units of work in x days, then y men working
y hours per day in y days would be able to do

k units of work. What is the value of k ?

(a) x2y—3
(b) x3y—2
© y%&3

Gy
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19. WA R % dn) & R QUi n a1, T GHMER AT gl Bl Ik T W

YIS W . den woqufar R Foar & AfFT T EUE qUs, 1 ST H 2,
, Ay IR TR St 800 gm % 7T 1000 gm awA g R |
1. d(5)=d(11) ._mﬁﬁmuﬁmw%?
2. d(5).d(11) = d(55) | @ 20% |
3. d(5)+d(11) = d(16) | (b) 25%
#19 e T g2 v FE q@ I g (o 30%
@ ¥aw 133 d) 40%
(b) Fad 1 32
NI 22. TH 3 m a0 R 40 m NS T& 2 km/hr T T
© TEEEr) 3 et & ot T # Predt & | o B F T
@ 1,2K8 & & Tz § e a1 g A o o d w
2? :

- (a) | 40,00,000 TR
20. I A, =P, + 1 8 @ P, UEdl n I

HETal w1 UEEE 8, A AERiiE s ® | (b) 400,000 FX

fram HifSr (© 40,000 T
1. A, 91 T 9T §E R | @ 4,000 R
2. A+ 2 THIN TS faww @@ R |
3. A, + 1A TH TH TEA R | 23, IR TH AT W T x W o= IIAw B, A 28%
T § ¥ A o e v Faf et e | T e y § &I, @
o - 12% 1 <9 B1a1 8. | y I x @ UM F7 8 2
(a) %ad 1 o
‘ (a) 41:9
(b) Had 2
—_— b) 81:9
(© h_aa ) 23:9
(d wad 233 . : @ 14:9
DZOL-T-LKM o ‘ (8-A)
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19.  Let d(n) denote the number of positive divisors | 21.
.- of a positive integer n. Which of the following
are correct ?-
1. d()=day)
2. d(5).d(11) = d(55)
3. d(5)+d(11) = d(16)
Select the correct answer using the code given
below :
(a) 1and3only
: 22,
(b) 1and2only.
" (¢) 2and3only
(d) 1,2and3
20. If A, =P, + 1, where P, is the product of the
first n prime numbers, then considér the
following statements :
1. = A, is always a composite number.
2. A, +2is always an odd number. o
3. A, +1is always an even number.
Which of the above statements is/are correct ?
(a) 1lonly
(b) 2only
(¢ 3only
(d) 2.and3only
DZOL-T-LKM (9-A)

®

=T’S LEARN TOGETHER

A shopkeeper sells his articles- at their cost
price but uses a faulty balance which reads
1000 gm for 800 gm. What is the éctual profit

percentage ?

(a)  20%
(b) 25%
() 30%
@ 40%

A river 3 m deép and 40 m wide is ‘ﬂowing at
the rate of 2 km/hr and falls into the sea.
What is the amount of water in litres that will

fall into the sea from this river in a minute ?
(a). 40,00,000 litres

(b) = 4,00,000 litres

(c) 40,000 litres

(d) 4,000 litres

Ifa televisionpsetk is sold at T x, a loss of 28%
would be incurred. If it is sold at T y, a profit
of 12% would be incurred. What is the ratio of

ytox?

(a) 41:9
(b)y 31:9
() 23:9
d 14:9
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26. AR x, y F FTHEAIRR ?ﬁﬁrﬂ%ﬁﬁaa i g

24. UF AR A FR 1 91 § 15 km/hr 1 Jhg
FH 300 km N Gl T & T wer ww T H
T H@T R | HR A IR =1 41 off 2
(a) 45 km/hr
(b) 50 km/hr
(c) 60km/hr
d 75km/hr

25. dmafs L, 1.1 i
k,‘wﬁﬁs 4.5%31@13&@%
UH R & Fd & | I8l Ahe 4 WER 91
A et It e @t R | AR =R §

27.
i @ < 96,800 BT B, T @ H IwH
| firean 7 22 |

(@ ¥ 82,000
(b) ¥ 34,500
() T 36,000
(d T 36,800

DZOL-T-LKM (10-A)

A/ T AE 2
1.. 2 +v2, xz-yz%W%--
' 3wy |

e fau 7T e # M w1 @ IR g -

2.

(a) aﬁlﬁlﬁf{é
(b) Fad 2 3K 3

(¢) %had 3

@ 1,2 3K 3

N F W I aw-fE % e F 4w
AT, §AT | SHhH A 36 7 @ 3 9 A
FoldTAH 3 N, Fouaad d | &

% fen ) e % ooy o oAt

(a) 259¢

(b) 2439
(c) 2399

) 2274
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24. By izik':’reasing the:speed of his car by 15 km/hr, | 26,
a person covers a distance of 300 km by taking '
an hour less than before. What was the
original speed of the car ?

(a) 45 km/hr
(b) 50 km/hr
(¢) 60 km/hr
(d) 75 km/hr
25 Three persons start a business with
capitals in the ratio - : 1 : —1— The first
: . 3 4 5 ‘
person withdraws half his capital after 27.
4 months. What is his share of profit if the
business fetches an annual profit of ¥ 96,800 ?
(a) € 32,000
(b) T 34,500
(¢) ¥ 36,000
(d) < 36,800
DZOL-T-LKM (11-A)
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If x varies as'y, then which of the following
is/are correct ? o
1. x2+y?variesasx - y2

x .
2. —5 varies inversely as y
y » g

3. ’\‘/xzy varies as 2 x4y2

Select the correct answer using the code given

~ below :

(a) 1and2only

(b) 2 and 3 only

“(¢) 3only
(d) ~1,%2and3
Ena was born 4 years after her parents

marriage. Her mother is 3 years younger than.
her father and 24 years older than Ena, who is

13 years old. At what age did Ena’s father get

married ?
(a) 25 years
(b) 24 years

(¢) 23 years

(d) 22years
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28. W N Y 60 T } | TH, WRW A 5 ¥ BT/ 31. qgG x° - 3xt + 3x% — 1 M x5 4+ 8x% 4 8x 41
%aﬁtthﬁmﬁagr%m@rqw@amé T HCF &1 § ? ‘

.%WWGET&W%IW@IWEQ% :
(a) x+1)

T o TR 2 2

@ 18a§ - () (x+1)2
®) ~ 1594 : ' © x2+1
(¢) 1399 . : d x+1)8

@ 1199

: . - 82. q WEIG * HCF 3 LCM = 3§+1

29. % Yfe # 3@l hl s N R | ued @ 3 30x° + 7x — 10x - 3 § | IR ™ wEwE

: ;WWﬁX%ﬁq&@?ﬁ%wm-ﬁX% 6x2+5x+1%,ﬁ§|ﬂ3§;1'q'w%?
sﬁﬂsﬁ?ﬁ%lﬁaﬁ%a’aﬁ_gﬁaﬁﬁ |

IgE! & deT = A 2 (a; 15x” +4x + 3
@ N3 & ' : (b) ~ 15x% + 4x -3
(b) N%m ~ (c) . 15x%- 4x+ 3
© N afw - @ 15x®-4x-3

(d)  TEN P AH T 3 et ? ,
83. AR (p+2)(2q—1)=2pq— 10 3

30. 2Tﬁ;’,ab+xy—xb=OC’:1"|Ibc+'yz‘—cy=0 B, (p—2)(2q—'1)=‘2pq>—10 %,?‘ﬁpq%lﬁ?
X ¢ : ' A
;+;ﬁ5¥|ﬁsw%? TR R ? '
‘ y
(a) b (a) -10

b
by —
y (b) -5
© 1 : © 5
d o
@ @ 10
DZOL-T-LKM (12-A)
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28. Mahesh is 60 years old. Ram is 5 years

younger to Mahesh and 4 years elder to Raju.
Babu is a younger brother of Raju and he is

6 years younger. What is the age difference

between Mahesh and Babu ?
(a) 18 years
(b) 15 years
(¢) 18 years
(d) 11years
29. The number of itéms in a booklet is N In the
first year b/t’here is an increase of x% in this
number and in the subsequent year there is a
decrease of x%. At the end of the two years,
what will be the number of items in the
booklet ?
(a) Less than N
(b) EqualtoN
(¢) More fhan N
(d) It depends on the value of N
30. If ab+xy—-xb=0 and bec+yz—cy=0, then
whatis =+ 2 equal to ?
a z :
Jy
(a) b
®» 2
y
1
@ o
DZOL-T-LKM

31.

32.

33.

(13-A)

What is the HCF of the polynomials

‘ -3x4+3x2-1 and 5 +3x2+3x+17?

(@ &x+1
(b) (x+1)7
© =+1
@ &+

The HCF and the LCM of two polynomials are
3x + 1 and 30x3 + 7x2 — 10x — 3 respectively. If
one polynomial is 6x2 + 5x + 1, then what is

the other polynomiél ?
(a) 15x%+4x+3
(b) 15x% +4x-3
(c) , 15x% - 4x+ 3

d) 15x2 - 4x -3

If (p+2)(2q-1)=2pg—10 and
(p - 2) (2q~ 1) = 2pq — 10, then what is

pq equal to ?
(a) -10
(b) -5

() 5

d 10
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a‘ +ac a4 —¢? 2¢ 3
34. - - - +
a2c—c3 a20+2ac2+c3 az-—c2 a+c
T HF FT 2 ?
a 0
b 1
(C) ac
' a? +¢2
@ -8
. a+4+c
35. 4x*+8x3 - 4x + 1 1 hyE FMR 2
(a) 2x2-2x-1
b) 2x2-x-1
(c) 2x2+2x'+1
d 2x2+2x-1
36. UH Q Il I WEA H Il w1 ATHe 13 B
R HEAT % 3!l Yoie o B o Hew Sk
T | 27 T IR B | G F SHT IH H
TOF%A T 8 2
(a) 35
(b) 40
(c)_ 45
d 54
37. X - Y __Z% 3 o R § 9
b+e¢e e¢+a b-a - ¢
I TH G R 2
(a) x+y+z=0
(b) x-y=z=0
(© x+y-z=0
d) X+2y+3z=0
DZOL-T-LKM
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38. X, YR Z U & @F A THENA I HH:

39.

4 km/hr, 5 km/hr 3R 6 km/hr & I 39 & |
Y, X ¥ 2 691G WIOW T @ l_Z#ﬁY?f'%ﬁﬁ
T YA WO S SR e 3 2 X @
T 99 A fee 2,

(m’.%d%‘
(b) %d%
(c) gﬂé -
@ i%sﬁ

nqaﬁmqyfm%,ﬁ 1-x—x"+x™ foper
g @ 2

()  (A4+x)?

(b) 1-x)?

(c) 1= 2x—x2

(d) 2

1+2x-x

40. Th Hfth T x # WO T @ wq W T 75 °

(14-A)

(a)

~(b)

SR W T R 6 IW T o xo o ga |
x foraeh SR @ 2

20%

25%

() 50%

(d) 100%
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X, Y and Z travel from the same place with
uniform speeds 4 km/hr, 5 km/hr and 6 km/hr
respectively. Y starts 2 hours after X. How
long after Y must Z start in order that they

overtake X at the same instant ?

(a)

hours
(b)

é hours
3

hours

(c)

|

(d)

—1—1 hours
8

1 - x = x%4 x**1 where n is a natural number,
is divisible by

(@)  (1+x)?

B  (1-x?

© 1-2%—x2

1+2x—x2

(@

A person sold an article for ¥ 75 which cost
him ¥ x. He finds that he realised x% profit on

his outlay. What is x equal to ?

(a) 20%
b)) 25%
(¢) 50%
(d) 100%

34. What is the value of 38.
'a2+ac_ a2—02'v_ 2c N 3
a%c—c3 aZc+2ac?+c® a?-c? a+c ’
(@ 0
b 1
© 2
: a2 +c?
@ -8
a+c
35. What is the square root of 4x* + 8x3 =d4x + 1?
(a) 2x%2<2x-1
b 2x2-x-1
() 2x%+2x +1
@ 2x%2+2x-1 39.
36. The sum of the digits of a two digit number is
13 and the difference between the number and
that formed by reversing the digits is 27. What
is the product of the digits of the number ?
(a) 35 ;
(b) 40
(c) 45 40.
(d) 54
37. If x ¥y .z , then/which one of the
b+e c¢+a b-a
following is correct ?
(a) x+y+z=0
b) x-y-z=0
() x+y-z=0.
@ x+2y+3z=0
DZOL-T-LKM (15-A) -
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41. UH HR I Th IO0 £ 6§ 6 | A 59 o |44 {fiﬂ@ﬂi@ﬁﬁwﬁq%’@aﬁﬁ%&ﬁm
9 x kmph 34 geft, @ aon y © A § gf & for w&m ) St R 2

B TR | AT e o ot 2 (@) T Il 1 T
(b) T QUIlsh T A

@ xt-pty () TH Uil =1 7

(b) xt-y ty? | (@ st FHCF

© xt-y ty2 - 45. IR} wF M H B ofdy 2, 9 F=fafea
¥ BE-AVA T ¥E 2

@ x (t+7) ty

1 T TS fEwa gy |

42. V& T g H A _femn s &, feeh g 2. T G IR R |
T it § T 9o wwe S| g & @i R g T g @ w0 v I g
® ALY BT & R W 840 m FRA H| Ly Fmmy

4 YIS A B | T 12250 m TR H fpa b) a2
qug T 2 .
(¢) 1 3w 23Ft
(@) 5HHE @ TR1MAE 2
(®b) 55TFE
' ' 46. 9f cosec 6 —sin 0 = m3ﬂ'{sec6—c036=n%,
() 6UFT : : 4 2 2 4
: : @ m3n3 + m3n3 ﬁmﬁaw%?
(d 65qHTE @ o
by 1
43. IR 6% 45 =g (femr TN R logy, 2 = 0301 (¢ mn
3 logyg 3 = 0:477), di F=fafa & & - (d m2n2
T El ] 2 ‘
47. ARG cos 0 +sec 0=k B, A sin2 0 — tan20 H
(a) O0<x«<1 , ‘—TFTERTI%?
b) 1<x<2 : (a 4-k
2
© 2<x<3 b  4-k
() k2-4
d 38<x<4
@ k2+2
DZOL-T-LKM (16-A)
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41. A car did a journey in t hours. Had the|44. The Euclidean algorithm is used to calculate
average speed been x kmph greater, the the
journey would have taken y hours less. How| . (@ square root of an integer
long was the journey ? _ B (b)  cube root of an integer

' (¢) square of an integer
(a x@t-yty 1 °g

‘ i (d) HCF of two integers
®d) xt-yty?!

45. If radius of a sphere is rational, then which of

. 2
© x@t-yty the following is/are correct ?

d x@t+yty o 1. - Its surface area is rational.
| | 2, Its Voluﬁe is ratiénal.
42. When a ball'is allowed to fall, the time it takes Select the correct answer using ‘thg code given
to fall any distance varies as the square root of ‘below :
the distance and it takes 4 seconds to ‘ 2 & 1 only
fall 78:40 m. How long would it take to fall (b)  2only -

122-50 m'? - . (c) Both1and?2

(d) Neither 1 nor 2
(a) 5 seconds :

®) 55 seconds 46. If cosec O — sin 8 = m and sec 6 — cos 6 = n,
. 4 2 2 4

(¢) .6 seconds then what is m—3_ng + mgng equal to ?

(@) 0
(d) 6-5 seconds
b 1
' () mn
43. If 634 4%*5 = 8 (Given log;y2 = 0-301 and
: ; (d m?n?
logyy3 = 0-477),. then which one of the

following is correct ? - : )
47. 1If cos 0 + sec ® = k, then what is the value of

(a) O<x<i : : ' ' sin? 0 - tanZ0 2
(a) 4-k
b)) 1<x<2 _
: ' b 4-k2
) 2<x<3 © K4
d 3<x<4 . ' @ K2+ 9
DZOL-T-LKM - | (17-A)
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48. AB W % UH HUGd W Uh Ha;1AYT ABC|[51. Q HIU 1 R 15° B o FHON w1 ATHA

2 gos(A+B)+sin(A+rB)ﬁ?G%W%? mﬁ%%|wm@%mmkw%g

(@ 0 ' | k foraah st 8 2
® 3 @ 2
(c % (b)i %
@ 1 | © g
49. Frafafga sl w foem it @ 7
1.  x¥ I3 Irafas 79 & e
Sin 0= x4~ WA R | |52, frfifaa HeEt W e Al
2. x% PI§ aree AW H forg 1. oF mwft uri & fow wefiemr

i 25in260—cos O +4=0THE ¥ |
cos9=x+lw%| sin cos 0 + 2
X

2. tan0.+.cot®, 28 %Y &l B dhal &, STEl

S7d # A PH-HVA FE @ ¥E 2 Y &
(a) ad 1 k ; ]
A S § | FH-G7A YT TE 8 2
© 130 2dm (a) . had 1
@ AR1ARAD 2 (b) e 2
: © 13K 23

'5o.rmﬁa§a%aia:aﬁwmwﬁmw&%mﬁ)w_ SRS 2 |
&2 | 53. @gﬂthamm%ﬁaaaﬂiﬁ%laﬁ
44 m i gt ¥ FE A T H G 420 wged
R, O Foaet fsen s <Y St =nf 2

(qFfFﬁﬁfQ n=27?_)

(a) 60m
(b) 66m
() 75m
(d 80m

(a)

(b)

O‘Il§ o3

(c)

@

alf g

DZOL-T-LKM (18=A)
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48. 'ABC is a triangle inscribed in a semicircle of |51,
+ - diameter AB. What is cos (A + B) + sin (A + B)
equal to ? ’
@ 0
1
b e
(b) 1
’ 1
(c) E
d 1
49. Consider the following statements :
1. sin 8= x + L is possiBle for some real
. X
value of x, 52.
2. cos®=x+ L is possible for some real
X
" value of x.
Which of the above statements is/are correct ?
(a) 1lonly
(b) 2 only
(¢) Both1land2
‘(d) Neither 1 nor 2
50. What is the magnitude (in radian) of the
interior angle of a regular pentagon ? 153.
s g
a —_—
(a) 3
2n
b fuakid
(b) 5
3r .
(c) 5
4n
d =
(d) 5
(19-A)

DZOL-T-LKM

GV

The difference between two angles is 15° and
the sum of the ahgles in radian is f—; The
bigger angle is k times the smaller angle.
What is k equal to ?

(a) %
(b) —Z—
© g '
@ %

Consider the following statements :

1. The equation 2 sin? @ —cos 6 + 4 =0 is

possible for all 6.
2. tan 8 + cot 6 cannot be less than 2, where
0< 6 < —;— c
Which of the above statements is/are correct ?
(a) 1only )
(b) 2only
(¢) Both1land2

Neither 1 nor 2 -

A road curve is to be laid out on a circle. What
radius should be used if the track is to change
direction by 42° in distance of 44 m ?

(Assume 7 = 272 )

(a) 60m
» 66m '
(¢ 75m
@ 80m
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54. 3smY—4 chl HiYchdH Hid TG 7

(a) -4
b -1
(© .0
@ 1

55. IR sinB+cos6= 2 %,?ﬁ

sin® @ +c0s® 0 + 6 sin? 0 cos? o fordes T & 2

1
(a) Z

5 .
(b) 1
) 1
’ 7
(d) 1

56. 9sin?6 + 16 cos? @ I FAGH T FT 8 ?

(a) O
(b) 9
() 16
d 25

57. 9fe cos 47° +8in47°=k 2, @l
cos? 47° — sin? 47° %1 G 47 8 ?

@ ky2-k2
b -ky2-k?
© kl1-k?
@ —ky1-k?

DZOL-T-LKM

58.

59.

60.

(20-A)

IS cosec 6 — sin 6 = p3 3N sec 6 — cos 6 = ¢®
?, AWtan O WA FT R ?

@ 2

q
® 2

P
(e pg .
@ p2q2

AR 020, B < 90° T THHHF6 cos (0~ B) = 1

%,?ﬁ sin o — sin B + cos.a — cos B fraes
TERE?

Y|

d) 0
© 1

d 2

ﬁﬁ%@awﬁmﬁwﬁm:

1. c0561°4sin29?$rm1%33&$=ﬁ"f§1
Hehell 2 | 5 B

2. . tan 23° = cot 67° T AT 0 & H7 & |

ol 8 3 Pmd w

@

(b) e 2

© 1aﬁt'2ﬁ

(d TA1ARTE 2
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54. What is the maximum value of 3s8in6-4 ? 58.
@ -4 | ‘
b -1
© . 0
@ 1
§55. If sin 6 + cos B = \[5, then what is
sin® 0 + cos® 6 + 6 sin? 6 cosg 0 equai to?
@ 3
59.
-8
b 2
(b) 2
@ 1
" 7
d L
(d 1
56. Whatis .t_he least value of 9 sin 0 + 16 cos? 6 ?
(@ O
() 9 60.
(¢ 16
@ 25
87. If cos 47° +'sin 47° = k, then what is the value
of cos? 47° —sin2 47° ?
(a) k,/2 ~ k2
(b) -ky2-k?2
. © kyl-k?
@ -kyl-k?
DZOL-T-LKM (21-A)

()

If cosec 6 — sin O = p3 and sec 0 — cos 6 = g2,

then what is the value of tan 6 ?

@ P
q
® 1
p L]
(e Pa
@ p2 q2

If 0'< oy B'<'90° such that cos (o — B) = 1, then
what is sin o.— sin B + cos o —'cos § equal to ?

@ -1
® 0
© A
@ 2

Consider the following statements :

1. The value Qf cos 61° + sin 29° cannot

exceed 1.

2. The value of tan 23° — cot 67° is less .
than O.

Which >of the above staterﬁents is/are correct ?
@ 1 only‘
(b) 2only

(¢) Both1l a;ld 2

'Neither 1 nor 2
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61. TH Ig4sl ABCD T, £ B = 90° 3K
AB2 +BC?+ CD?-AD?=0%, @ £ ACD
Torges Tq B 2
(a) 30°
()  60°
() 90°
@ 120°
65.
62. TH AABCH AC=12cm, AB =16 cm 3R L A
%1 T3S AD 2 | 7 BD = 4 em 2, ?‘ﬁDC
ﬁmﬁsw%?
(a) " 2cm
(b) 3ecm
(Cj 4 cm
(d 5cm
63. ABCD U 95 9q¥49 8 | ®I0 A, B, C 3R D
- % foes 99 @l A P Q,Raﬁtsmm 66.
& | ZLPQR + RSP forae sRIeX @ ?
C(a) 90°
- (b) 135°
() 180°
d 270°
DZOL-T-LKM (22-A)

“(a)

(d)

|64. ABC ©H wHaTg By & | W1 BC, D W .

R gAfAR &t @ %5 BC = 3BD | AD?

T AB? ¥ 3{UTd F1 B 2

(a 7:9

- (b 1:3

(© 5:7

@ 1:2
frefafea wet w far fiftre

1 we % ol whaw W st

2. mﬁwgm@%m@ﬁtnﬁ

1§ it W@ FEARR YA F FAIIRS
fofoe et @ 1

' wﬁ?ﬁﬁﬁﬁq-wém@%/%?

e 1
HaA 2
1$ﬂtza=ﬁ
#a’rlaﬁwsﬁz

(b)
tc)

IR T WP b SAE, T T S i

ARG FASE H, C 3R V &, @ 3nvE® + ov?

fepEeh sTeR 2 ?
(@) C2H?
® 2C2H?

| (¢ 5C2H2 |
@ 7c%H?
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61. In’a quadrilateral ABCD, ZB = 90° and|64.. ABCisan equilateral triangle. The side BC is

AB2 + BC? + CD2 - AD? = 0, then what is . trisected at D such that BC = 3 BD. What is
£ ACD equal to ? ' _ " the ratio of AD? to AB? ?
@ 30° (a 7:9
®» 1:3

(b) 60° .

. } (e) 5:7
© 90° . . @ 1:2
@ 120°

65. Consider the following.statements :

62. Ina AABC, AC = 12 cm, AB = 16 cm and AD 1. The diagonals of a trapezium divide each
is the bisector of £ A. If BD = 4 c¢cm, then what ' other proportionally. o

is DC equal to ?
- 2. Any line drawn parallel to the parallel

(a) 2 cm ‘ : sides of a trapezium divides the
non-parallel sides proportionally.

(b) 3cm " ‘ X Y

Which of the above statements is/are correct ?
(¢) 4cm

“(a) A only

@ 5em ) 2 only:

(¢) Both1and2

63. ABCD is a cyclic quadrilateral. The bisectors (d) Neither 1 nor 2

of the angles A, B, C and D cut the circle

at P, Q R and S respectively. What is
66. If H, C and V are respectively the height,

ZPQR + Z RSP equalto? =~ ,
' curved surface area and volume of a cone, then
(a) 90° * whatis 3nVH’ + ov> equal to ?
(b) 135° (a) C%H?
: 2112

(¢) 180° by 2C“H
(¢) 5C2H?

(d) 270°
@ 7C%H2

DZOL-T-LKM (23-A)
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69.

70.
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O vaas e VINE O TERL (T N T ﬁ2mm

mmmﬁﬁﬁﬁﬁmﬁ%wﬁmm
29

. (a) 512

(b)
() 256000
(d)

1024

512000

& st Y S Y 40 cm 3R 41 em § 1 IR
Brgs i 9P 90 em B, @ TEET SABA T
27

(a) 90cm?
(b) 135 cm?
(¢) 150 cm?

@ 180 cm?

U qHEgdS o AUl o 2 3E 7 T 2 ek

mqﬁmﬁwﬁ%?ﬁmﬁemm
? | auEga 1 A% ¥ 8 2

(a) 487 ThIE
(b) 36 HIE
(© 247 hE
(d) 123 5HE

T gl By aeet @ R, 4R aRew
ﬁﬁ?mm%aﬁ(w“@ﬁmwsﬁm
4cmsE ?

(a) 20cm?
(b) 18 cm?
(e) 16 ¢cm?

(d 10cm?

71.

72.

73.

74.

(24-A)

T Bye A, oft i % A9 (degree WY #H)
i § | Fefifae # @ S 3% Al W=
I FET | b ?

(a) 1:2:3
(b) 3:4:5
() 5:6:7
d 6:7:8

Th Id Y da18 o 10%@‘{%@:#@1?1}:
10% 1 e} 1 St B | @ AU AT F ST%A
T o1 3P T 2

(2 Tgfg T @ wht

(b) 1% Ifg
(© 1% ! Hift

(d) 10% <] HH!

QTR % TSI Sl T I 1 4 R

3% AT Bl STITE T 2 2
(a) 1:16
(b) i:l2
(0 1:10
(d 1:8

| T 3¢ H GETE, AtSr 3N FuTE HEA: 20 em,

15cm 3R 10em & | 45 m Y O€E, 0-15 m it
ST 3R 8 m A F=é areht daw H T A
et S8 N EwHEaTR 2

(a) 12450

(b) 11250

(c) 6750

(d I9g® A A FE T8
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67. How many solid lead balls each of diameter | 71. In a triangle, values of all the angles are
2 mm can be made from a solid lead ball of integers (in degree measure). Which one of the
radius 8 cm ? following cannot be the proportion of their

. ? '
(a) 512 measures ?
(© 256000 ® 3:4:5
@ 512000 © 5:6:7
d 6:7:8

68. The two sides of a triangle are 40 cm and A
41 cm. If the perimeter of the triangle "is|72. The length of a rectangle is increased by 10%

90 cm, what is its area ? and breadth is decreased by 10%. Then the
(a) 90 cm? area of the new regtangle is

(b) 135 cm? (a) neither increased nor decreased

() 150 cml2 (b)  increased by 1%

(d 180 cm? (c) decreased by 1% |

(d) decreased by 10%

69. The diagonals of a rhombus differ by 2 units : ,
-and its perimeter exceeds the sum of the|73. The surface areas of two spheres are in the

diagonals by 6 units. What is the area of the ratio 1: 4. What is the ratio of their volumes ?
9 . v
rhombus 7 (@ 1:16
' (a) 48 square units v

\ . (b) 1:12

(b) 36 square units :
(¢) 1:10
(c) 24 square units
(d- 1:8

(d) 12 square units

74. The length, breadth and height of a brick are

70. ti f a-right-angled triangle, if .
What is the area of aright angleC driangley i 20cm, 15cm and 10 em respectively. The

the radius of the circumcircle is 5 ¢m and
u et number of bricks required to construct a wall

altitude d to the hypot is 4 cm ?
ride drawn to the hypotenugis £ o with dimensions 45 m length, 0-15 m breadth

(a) 20 cm?2 ¥ and 3 m height is
(b) 18 cm?2 (@) 12450,
) (b) 11250
(¢) 16 cm
. (¢) 6750
(d 10 cm? ' (d) None of the above
DZOL-T-LKM (25-A)
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af T G aS % wft FAHON H AR,

9% Tl sfswit % Aa B QAT R, @ TE |

TG TR
(@)

(b) ARYSA

(c) HAYS

(d) YA

@w'sﬁsawq%mnkmaaﬁﬁsooow
ST & | ufEd ) e = R 2
@ ehfg n==£§%)

(a)  17-5cem

(b) 35cm

(c) 70 cm

140 cm

2 el ¥ T w1 A 1: 4 8 of I
TEl T ST 4 : 5§ | SR Al I
U FR ?

(a) 25:64

(b) 16:25

(¢ 9:16

() 5:9

78. Q%ﬁ‘ﬁﬁABCﬁ,ﬂﬁZ[A:SLB:ﬁAC%,

79.

80.

(26-A)

@A 2 A+ 2 CTras s ? 2
(@ 90°

b 120°
(¢) 135°

@ 150°

ﬂ&@qaaﬁtméﬁﬁqﬁmw%,?h
g0 % &E%a B T H GAGA & I A
22

(a) 1l:m

Mb) /2:¢

() 8inm

d 4:=

H A Be SRl $it durAl FHE
T quite (cm ) & | §F QIR T oSS T
A

(a) * 60
(b) 120
(c) 360 -
(d) 480
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If the sum of all interior anglés of a regular
polygon is twice the sum of all its exterior

angles, then the polygon is
(a) Hexagon

(b) Octagon
(¢) Nonagon

(d) Decagon

A bicycle wheel makes 5000 revolutions in
moving 11 km. What is the radius of the

wheel ? (Assume 7 = -2—2 )

(a) 17-5cm

(b) 35cm
(cj 70 cm

(d) 140 cm

The volumes of two cones are in the ratio 1: 4
and their diameters are in the ratio 4 : 3.

What is the ratio of their heights ?
(a) 25:64
b)) 16:25
© 9:16

d 5:9

78.

79.

80.

(27 -A)

In a triangle ABC, if 2 LA =3 £B = 6 ~£C,

_then whatis Z A + Z C equal to ?

(a)

90° .
()] i20°
() 135°
(d) 150°

If the perimeter of a circle and a square are
equal, then what is the ratio of the area of the

circle to that of the square ?

(a) 1:m
M)/ 2:n
© 3:=n
d 4:=

The lengths of the sides of a right-angled

triangle are consecutive even integers (in cm).

~ What is the product of these integers ?

(a) 60

(b) 120
() 360
(d) 480
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T Pe ABC # U siaige § | 9g gl AB (84,
R AC ! AW M 3R N R oaef otar & | IR
IO H HE 07 M LA =700, @ « MON
fra% S 2 2 |
(a) 90°
(b)  100°
() 110° 85.
@ 120° |
82. @Wﬁgmﬁwﬁ%wﬁwﬁm
8,450 T SHTS B | THb 0l hl oIS AT R ?
(a) 50 3HE
(b) 55FFTS
© 603HTE
@) 653
83. ‘@ﬁgaaﬂtw,magﬁmwémaﬁtss.
T MR % § | A Bys it S amia
=g B SAE Ak TR, @k w AR w0
22
(a) 4
b)) 2
© 1
1
@ 2
(28-A)

DZOL-T-LKM

®

e YN

=T’S LEARN TOGETHER

3 T H %l T FAE m?

:nt® | ITH
ofeTd 1 ST R ?
(8 m:n '
() n:m
(¢ m:n?
(d m?:n

s ABC I Wi AD ® | aft ADqIﬁ
fog P2, @ fieffea 4.8 - s adt & 2

(a) P99 PAB & &=%a, By PAC &
qIFA ¥ A 2

®) Bs PAB 1 &www, Fyw PAC ¥
ATFSA * IR 3

© BYs PAB #1 &=we, Bys PAC &
AT h TH-GNTs 8

@ B¥s PAB #1 &%w, Bys PAC %
éawm:mm%

B %@‘eﬁ%%ﬁmeaﬁwaﬁﬁaﬁ

@gw%srq»—cfw%?

(a) %rze

(b) lr2 (6;2sin9 cosQJ
2 2

2
1 . 0 0 |
(c) Er2 (e—sm§ COSEJ

(d)
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81, A circle is inscribed in a triangle ABC. It

touches the sides AB and AC at M and N

respectively. If O is the ’cent;'e of the circle and |

LA= 7Q°, then what is £ MON equal to ?

(a) 90°

(b) 100°

() 110°

(d) 120°

82. The sum of the squares of sides of a

" right-angled triangle is 8,450 square units.
What is the length of its hypotenuse ?

(a) 50 units
(b) 55 uﬁits
(c) 60 units
65 units

)

83. A triangle énd a parallelogram have equal

areas and equal bases. If the altitude of the
triangle is' k.times the altitude of the
parallelogram, then what is the value of k ?

(a) 4
® 2.
@ 1
1
(d) - 3

DZOL-T-LKM

84.

85.

86.

! (29-A)

Areas of two squares are in the ratio m? : n?.

What is the ratio of their perimeters ?

(a) m:n

b)) n:m
(¢ m:n2

(@ m2:n_

AD is the median of the triangle ABC. If P is
any point on AD, .then-which one of the

following is correct ?

(a) Area of triangle PAB is greater than the
area of triangle PAC

(b) Area of triangle PAB is equal to area of
triangle PAC ’

(c).  Area of triangle PAB is one-fourth of the
area of triangle PAC

(d) Area of triangle PAB is half of the area

of triangle PAC

What is the area of a segment of a circle of

radius r subtending an angle 0 at the centre ?

(a) % r2 e

® e (9—2sin-g— cosg)
(c) %rz (6 - sing cosg]
(d) %rz sing cos g
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87. TH P ABC % Fri C W W ¥ | WH|89. TH WIed W T et B Bread x ok
. dfmfFAC R RS R PR AR BC WHE|  ox ¥ | AR wcd B S ox B, @ A R
fag Q ? | FreafrRem et & & FwA ¥ s

| 239 o : @™ fsg 1t=272)
1. AQ?+BPZ=AB? +PQ?
Q-+ +PQ (a) 11x°
2. AB=2PQ
, (b) 22x3
= T 1T He 1 T@ TS |8 ST/ gAY
N 4453
(a) a1 © *
b Fad 2 | d) 555
(c) 13ﬂ'{2'cﬁ=ﬁ

(@ JTWMLITTE 2 '
90. AR TH TN H e, wN9E, I, T

~ ' . 1.1 1
2+ =+ - frEp
88. ¥R @AM B I Ixfiw o o @t W @ p g r N A
YR T AT & fh 3T g ot & SfiNT 9T &l | _
s foem A g et W e s AR @ T
ot @ Rl 3 BT oh BB 42 om? @, @ S
T s A O R 2 b 2
mnenﬁqnﬁ;) o ~ s
-(a) 5cm S
(). E
b) 7em
© 10em ' (d) %
(d 14em
 DZOL-T-LKM o (30-A)
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87. ABC is a triangle right-angled at C. Let P be |89, The radii of the flat circular faces of a bucket
. . t \ N . : . . .

any pomt on ACand Q b‘e_‘any point on BC. are x and 2x. If the height of the bucket is 3x,

Which of the following statements - is/are o

o ; o , “what is the - capacity of the bucket ?

correct ? )

S o (Assumen=272)
1. AQ?+BP?=AB?+PQ?
L
9. AB=2PQ {a) 11x
" Belect the correct answer using the code given (b) 22x3
helow :
(© 44x3
(a) lonly
. : d 5553
(b) 2only
(¢) Both1and?2
(d) - Neither 1nor2 . - R 90. Ifp, q, 'r, s and t represent length, breadth,

height, surface area and volume of a cuboid

respectively, then what is E + 1 + 1 equal
: r
88. Four circular coins of equal rgdius are placed 1

to?
with their centres coinciding with four vertices
ofaf square. Each coin touches two other coins.
If the uncovered area of the square is 42 cm?, (a) ‘ 8
théen what is the radius of each coin ? E b
. (Assume 1t = %)
w2
(@) 5cm
(b) 7cm \ o ®
; “ a
(¢) 10cm
d 14cm _ @ 25
t
DZOL-T-LKM ' . (31-A)
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Ygg el weh wlten ¥ daa & | R erwfdRat A

ghter 3<fiof bt 39k 37 9,6, 7, 8, 8,9, 6, 5, 4
M 7 & | ool ugg vl & afet i wifedenr
TR ? ‘

(a) 6

(b) 65
© 7

7-5

TR 7 s, o & S F SR 1w T
3, i St &Y IgER (gm H) 180, 191, 175, 111,
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Fifteen  candidates ° appeared in - an
examination. The marks of the candidates who
passed in the examination are 9, 6, 7, 8, 8, 9,
6,'5, 4 and 7. What is the median of marks of

all the fifteen candidates ?
(a) 6

(b) 65
) 7
d 75

If the yield (in gm) of barley from 7 plots_ of_‘

size one square yard each, were found to be

180, 191, 175, 111, 154, 141 and 176, then

what is the median yield ?

(a) 111gm

(b) 154gm
(¢ 175gm

(d 176 gm

Which one of the followiné measures of central
tendency will..be used to. determine the
average size of the shoe sold in the shop ?

(a) Arithmetic mean
(b) Geometric mean
(¢ Median

(d) Mode
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When' the class intervals have equal width,

the height of a recfangle in a .histogram

represents
(a) Width of the class
(b) Lower class limit

(c) Upper class limit

G

Frequency of the class

The ages of 7 family members are 2, 5, 12, 18,
38, 40 and 60 years respeétively. After 5 years
a new member aged x years is added. If the
mean age of the family now goes up by

1-5 years, then what is the value of x ?

(a) /1
®) 2
(0 3
d 4

The mean weight of 100 sfudents in a class is
46 kg. The mean weight of boys is 50 kg and
that of girls is 40 kg. The number of boys

exceeds the number of girls by

(a) 10
® 15
© 20
@ 25
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97. WNar 1S Ule A1georaic sum o1 une deviations | 99.
from the mean of a set of values 25, 65, 73, 75,
83,76,17,15,7,14 7 '

(a -1
b)) O
© 1.
@ 2
98. The mean of _ﬁye observations x, x + 2, x + 4, 100.
" X + 6, x + 8 is m. What is the mean of the first
three observations ?
(a) m
b)) m-=1
(0 m-2
(d m-3
DZOL-T-LKM (35-A)

(b)

What is the median of 2, 4, 6, ..., 100 ?

(a) 48

49

(e) 50

@ 51

The harmonic mean and the geometric mean
of two numbers are 10 and 12 respectively.
What is their arithmetic mean ?

25
3

V120

11

(a)

(b)
(c)

(d) 144
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LU ivue vreay 1md 1 e>1 BOOKLET UNTIL YOU ARE TOLD TO DO SO

T.B.C. : DZOL-T-LKM o | | Test Booklet Series
~ TEST BOOKLET
- ELEMENTARY MATHEMATICS
: Two Hours Mazximum Marks : 100

Al

1. IMMEDIATELY AFTER THE COMMENCEMENT OF THE EXAMINATION, YOU.SHOULD CHECK THAT
THIS TEST BOOKLET DOES NOT HAVE ANY UNPRINTED OR TORN OR. MISSING PAGES OR ITEMS,
ETC. IF SO, GET IT REPLACED BY A COMPLETE TEST BOOKLET. o )

2. Please note that it is the candidate’s responsibility ta encode and fill in the Roll Number and Test
Booklet Series A, B, C or D carefully and Witbou'§ any omission or discrepancy at the appropriate
places in the OMR Answer Sheet. Any omission/discrepancy will render the Answer Sheet liable for
rejection.

3. You have to enter your Roll Number on the
Test Booklet in the Box provided alongside.

DO NOT write anything else on the Test Booklet,

4.  This Test Booklet contains 100 items (questions). Each item is printed both in Hindi and English.
Each item comprises four responses (answers). You will select the response which you want to mark
on the Answer Sheet. In case you feel that-there is more than one correct response, mark the

_ response which you consider the best. In any case, choose ONLY ONE response for each item.

5.  You have to mark all your responses ONLY on the separate Answer Sheet provided. See directions
in the Answer Sheet. - ' :

6.  All items carry equal marks. . : " :

7.  Before you proeeed to mark in the Answer Sheet the response to various items in the Test Booklet,"
you have to fill in some particulars in the Answer Sheet as per instructions sent to you with your
Admission Certificate. S ’ )

8.  After you have completed filling in all your responses on the Answer Sheet and the examinatjon has

' concluded, you should hand over to the Invigilator only the Answer Sheet. You are permitted to
take away with you the Test Booklet. . .

‘9. Sheets for rough work are appended in the Test Booklet at the end.

10. Penalty for wrong answers : —

THERE WILL BE.PENALTY FOR WRONG ANSWERS MARKED BY A CANDIDATE IN THE
OBJECTIVE TYPE QUESTION PAPERS. , ; |
(6] There are four alternatives for the answer to every question. For each question for which a wropng answer

has Ii:en given by the candidate, one-third of the marks assigned to that question will be deducted as
-penalty. »

(ii)  If a candidate gives more than one answer, it will be treated as a wrong answer even if one of the given
answers happens to be correct and there will be same penalty as ahove to that question.

Gii) Ifa gpeétion is left blank, i.e., no answer is given by the candidate, there will be no penalty for that
question.

DO NOT OPEN THIS TEST BOOKLET UNTIL YOU ARE TOLD TO DO SO
WY P w1 ) FOR W R S q@ Y wew R |
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